7-3 Solving Rational Inequalities

| can solve rational inequalities graphically

and using a sign chart.

Solving Inequalities

when solving an inequality, your answer is the intervals
of x-values where the function (y values) meets thegiven

conditions
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Making a Sign Chart for a Rational Function
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Rational Inequalities

Goal: to find where the graph is (+) or (-) depending on the
inequality sign
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Solve the rational inequality
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Solve the rational inequalities
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Solve the rational inequality ~ ~*{(x~3)
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Solve the rational inequality
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